


OPTION 1:

22222






@
\ /"/ \
—./"/ G
S\ 5=
/
( & ® /L
) . s
A\ -@ 5
———E— AP ® &)
—ATN Q
; SR



Part List & Hardware List (Box 1-WF305798)

WoodBar-1pc

WoodBar-1 pE

1C e 1D 1E j
WoodBar-1pc =~ WoodBar-1pc Panel-4pcs

1F 1G 2A
WoodBar-2pc WoodBar-1pc WoodBar-1pc

2B 2C ) 2D)] \

WoodBar-1pc -

L

2F :

WoodBar-1pc )

3A

4

WoodBar-1pc

Panel-2pcs
3B

WoodBar-1pc

3C \

3D

WoodBar-1pc

WoodBar-1pc A

|

Panel-2pcs

3F

WoodBar-1pc

4C

WoodBar-1pc

4D)

WoodBar-1pc

4E

Panel-4pcs

4F

WoodBar-2pcs

05/23




Part List & Hardware List (Box 1-WF305798)

4G -

WoodBar-1pc

oC

WoodBar-1pc

5D

WoodBar-1pc

=

Panel-4pcs

T

WoodBar-2pcs

5G

6C

X

WoodBar-1pc

6D

4

8C

WoodBar-1pc

WoodBar-1pc

8D [

WoodBar-1pc

WoodBar-1pc

9C |
WoodBar-1pc

9D

WoodBar-1pc

=

-

9G

Panel-4pcs WoodBar-2pcs Panel-2pcs
) / ) H
WoodBar-2pcs WoodBar-1pc

06/23




Part List (Box 2-WF305799)

-

WoodBar-1pc

1B

—

WoodBar-1pc

=

WoodBar-1pc

-

WoodBar-1pc

=

WoodBar-1pc

-

WoodBar-1pc

WoodBar-1pc WoodBar-1pc Leg-1pc
6F < 6G o 6H G
Leg-1pc \ Leg-1pc Leg-1pc \\
) / ) / = ]
WoodBar-2pcs WoodBar-2pcs WoodBar-2pcs
7D ) / =
WoodBar-2pcs WoodBar-1pc WoodBar-1pc
8E 8F I 9A
Slats-6pcs WoodBar-1pc WoodBar-1pc

07/23




Part List (Box 2-WF305799)

-

WoodBar-1pc

10A %

TableTop-1pc

10B

=

WoodBar-3pcs

08/23




Hardware List (Box 1-WF305798)

1 ) 2 3
Screws 1/4" x40 Screws 1/4" x60 Screws 1/4" x70
30pcs 52pcs 16pcs
4 ~ 5 6
§ Screws 1/4" x80 M4 x 25 mm
Power outlet 1pc 12pcs Wood Screws 4pcs
7 8 9
Door Hinge 38 x 63 mm Door Hinge 33 x 46 mm
Handle Wood 4pcs 8pcs 6pcs
10 11 ﬁ - ﬁ
@8 x 30 mm _ :
Wood dowel 22pcs Folding Hinge 2pcs Allen Key 1pc
13 14 15
@
< 2
= M3 x 15 mm
Hook Hinge 2pcs Wood Screws 110pcs Folding Hinge 2pcs

!

Assembly Tools Required (Not Included)

09/23




8(pcs)

Following below illustration

STEP1:

STE P2 Following below illustration

10/23



STE P3 Following below illustration.

/

11/23



STE P5 Following below illustration.

12/23



2(pcs) |4(pcs)

STE P8 Following below illustration

13/23



8(pcs)

STE P9 Following below illustration




Following below illustration.

STEP11:
STE P 1 2 FoIIowin below illustration.



STE P 1 3 Following below illustration




6(pcs)

STE P 1 5 Following below illustration

6(pcs) |18(pcs) [8(pcs)

STE P 1 6(X2 ) Following below illustration

17/23




1(pcs) |1(pcs) |17(pcs)
1(pcs) |1(pcs) [17(pcs)




STE PZO Following below illustration



13

14

4(pcs) |2(pcs)

STE P22 Following below illustration




8(pcs) |48(pcs)

4(pcs)  [4(pcs)

21/23



n|j1 mojeq Buimoyjo QZdH_LS






